
HÄFELE DATA SHEET -  K ITCHEN PRODUCTS / 30-1029

D
AT

A
 S

H
E

E
T

20
13

, 
©

 H
äf

el
e 

U
.K

. 
Lt

d 
20

13
. 

D
im

en
si

on
al

 d
at

a 
no

t 
bi

nd
in

g.
 W

e 
re

se
rv

e 
th

e 
rig

ht
 t

o 
al

te
r 

sp
ec

ifi
ca

tio
ns

 w
ith

ou
t 

no
tic

e.

PAGE CREATED
25.09.17

Cat. No.

Larder unit fitting set 010.99.999

Larder unit fitting set - Universal

> Larder fitting set consists of:

36 pcs x 4.2 x 15.0 mm self tapping panhead (pozi) wood
screws, bzp

2 pcs x 6.0 x 50.0 mm flathead (hex) bolt. bzp

2 pcs x 8.0 x 40.0 mm raised head (posi) machine bolt, bzp

2 pcs x 6.0 x 24.0 mm raised head (pozi) machine bolt, bzp

2 pcs x 6.0 x 10.0 mm raised head (pozi) machine bolt, bzp

12 pcs x 5.0 x 6.0 mm raised head (pozi) machine bolt, bzp

2 pcs x 4.0 x 10.0 mm flat head (pozi) bolt, bzp

4 pcs x 6.0 mm (M6) hex nut

4 pcs x 6.0 mm (M6) locking washer

8 x 10.0 mm  (M5) flange head screw
> To be supplied with all of the above in a single polythene bag

and labelled with Hafele reference, description and quantity. To
be supplied with 100 sets in a box and labelled with Hafele 
reference, description and quantity.

> Order qty:  1 set


